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What.is the next term: 147, 247, 447, _ ?

If 1% of my money is 20 cent, how much money
have | altogether?

Is the angle between the hands an acute angle,
a right angle or an obtuse angle?

Three peaches cost 40 cent. What would 15 peaches cost?
The amount of surface a shape has is called its |

(perimeter, area).
A chess board has 8 rows, each having 8 squares.

How many squares cover the board?
Kelsey is 1m 52cm tall. She is 17cm taller than Keith.

What height is Keith?
For picking up litter after a concert, the children are given €3

for each hour’s work. Martha stops after 40 minutes.
How much should she get?
How many grams in 10ofa kilogram?



of €50 from O-




. €1.35x10x10=[]
1 .
. How many degrees in 3 of a right angle? P

. The diameter of a 10 cent coin is 20mm.

. What is 3% of €100?
. One less than half a number is 12.
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. Which 3-D shape here is not a prism:

a cube, a cuboid, a pyramid?

What is the length of its radius?

. Johnny sells cabbage plants at €5 per hundred.

How much would | pay for 25 cabbage plants?

Put in order, smallest first: 0-79, 1-02, 0-8.

What is the cost of five burgers at €1.95 each?

How many square centimetres would cover a stamp

which is 3cm long and 2cm wide?

What is the number?
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. Is a wedge a prism?

How many degrees are there between the hands on a clock
face when the time is 11 o’clock?

How many square centimetres would cover a rectangle which
measures 5cm by 8cm?

What size is the angle between the hands
when the clock shows 10 o’clock?

How long is it from 23.00 hrs to 04.00 hrs?
How many 20c coins would make €107

Ciara spent %of her money. If she had €9 left,

how much had she at first?
If the diameter of a 5 cent coin is 21mm what _z=

length is its radius?

Add 1-9 and 7-06.
What change did Ellen get from a five-euro

note when she bought ten stamps at 38 cent each?



